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1. g Rk=8H 950 2,500 -1,550 | LA AFAH] 1 30,00090%53] = 150,000
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2. FAEA /WG AR} B & 141,982 75,656 66,326
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1oAY 79,385 18,240, 61,145
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5. 0HEEHA Y 3,000 3,000 0
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2. W5 0 800 -800
3. 2EF 1,250 1,250 0
1.12A8g5 1,250 1,250 0
1. a2 1,250 1,250 0 i;&i;ﬁ%%ﬁ@ml'@@ + 22,0004 150,000
i;ﬁj*é%‘*}ww%) : 10,00091%110%3 1,100,000
2.32A P& s 0 0 0
4. 994 w5 47,875 47,600 275
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A Fole] - 1 500,0009x13]= 500,000
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shA)Eole] 9 1 200,0009108]= 2,000,000
A3 1 500,0009)%103]= 5,000,000
AP EHA - 1 2,000,000 %13]= 2,000,000
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AELEZ 0 12,0009%1F%123] = 144,000
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3 A AFH) A~ o 3 . Ke) =
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z@ 97 F(AFE ) 3,000,000 3,000,000
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1. 449907 2,500 2,500 0
1571 A4 9 2,500 2,500 0 Z7F © 250,00099%10Y = 2,500,000
2.7224 g H9ds 0 0 0
3. 71A WAL A e 0 0 0
4. () A2 S L S5 =91 13 0 0
5. 71 Al wrE s 0 0 0
2. A1 g A 80,160 72,745 7,415
1. g A A g u] 4] 80,160 72,745 7,415
1. 33 g 2AA T 42,024| 38,564 3,460
147187 32,400 32,400 0 :2,700,0009 %129 = 32,400,000
2. 8RR 7,200 3,600 3,600 : 600,0009%12¢ = 7,200,000
37EHEE 8w 2,424 2,564 -140 | W54 1 42,00099%123] = 504,000
Wtk AF3 ] 0 60,0009+13] = 60,000
% :130,00099%129 = 1,560,000
2 :150,00090%23] = 300,000
2.9180 1,000 1,000 0
1.8 1,000 1,000 0 11,0009 1,0008] ] = 1,000,000
3. A 2] 8o 7,704 7,704 0
1. k80 7,704 7,704 0 ©122,0009+12¢9 = 1,464,000
g&9u] @ 170,0009%12¢ = 2,040,000
2891 @ 150,000 %12 1,800,000
Z&91] : 200,0009%12¢ = 2,400,000
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s g8h4A 1 50,0009 #129 = 600,000

A7 A2 F5E 1 500,0009%13] = 500,000

arg et e 7591 ¢ 150,000 «129 = 1,800,000
5. 37 7 3,180 3,180 0

1. Q9ukg4) 3,180 3,180 0/ 5F-17u&9n0] : 2650009129 = 3,180,000
3.8t P 6,000 3,900 2,100
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1.8 -4 91 3] 800 1,000 -200

1. Rk F-3=x10] 800 1,000 -200| L9 9143+ 1 100,0000+8™ = 800,000
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